MODEL 05106 WIND MONITOR—MA
MARINE MODEL

YOUNG

08234 PROPELLER 18 cm DIA x 30 cm PITCH

POLYPROPYLENE
05163PW FLANGE BEARING (2 REQD)

05160C NOSE CONE ASSY
05158 NOSE CONE l
{ 05154 HOUSING ASSY

6—-32 x 3/8 PAN HEAD SCREW (4 REQD)

05138A POTENTIOMETER COUPLING

/\z @ @ 05139 POTENTIOMETER
f‘ BN /ADJUST THUMBWHEEL
I N =

ZC)51 67D PROPELLER

NUT (FLANGED)

05164C PROPELLER SHAFT
W/HUB

05165B FRONT BEARING CAP

05130D TRANSDUCER ASSEMBLY

—— 05145C POTENTIOMETER MOUNTING
& COIL ASSY

— 05133B POTENTIOMETER 10K
1/4% LIN, CONDUCTIVE PLASTIC

— 05135D POTENTIOMETER SHAFT
EXTENSION (WITH O—RING)

05161A 6 POLE MAGNET &
SHAFT COLLAR

6—32 x 1/8 SET SCREW
(6 REQD)

05127 MAIN HOUSING LATCH\
6—32 x 3/8 FLAT HD SCREW T
&

—— 05131D POTENTIOMETER HOUSING

05124VG VERTICAL SHAFT
BEARING (2 REQD)

05136 VERTICAL SHAFT
BEARING ROTOR—-MA

8-32 x 5/16 PAN HD SCRER
46 x 3/8 SCREW SELF—TAP
(6 REQD) \

05123A—03 CABLE 1m (3.3 FT) —
WITH STRAIN RELIEF ASSY

05123A—01 MOUNTING
POST ASSY

05129 BAND CLAMP (2 REQD)

MODEL 05106 WIND MONITOR—MA DWG B |PRD 01-94
MARINE MODEL DWN JMT |DWG 10-01
GENERAL ASSY & REPLACEMENT PARTS CHKY.L..| E05106

R.M. YOUNG CO. TRAVERSE CITY, Ml 49686 U.S.A. 231—946—3980




